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ﬁiﬁwﬂmﬁmmmmil
er each type of questions and answer accordingly.

- & / SECTION - A

wyT / Objective Type Questions
wimm*mwﬁmﬁvwf. fri & vw WEl
o Wt R wi OMR ¥iiz wT e &1 =t 40 wvAl ®T
40x 1 =40

tions, out of which only one is correct. You

mark ybur selected option, on the OMR-Sheet. Answer any .
40x1= 40_

have to
40 tions. - -
40 questions 3 @ e rm v oA 3 s g & 2
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(© (D) WrEen
Page 1 /32

XI1-QTR/524



13,

."Wﬁamwmmﬁwﬁwma?
N a‘ﬁ%ﬁﬁa - qﬁaa’lr%ﬁaa.

-

[1131

(©) séaa?rrsﬁﬁﬁﬁ' itnﬂa

Wh:ch of thc follnmng does not comc undcr

elcctrochcm:cal cells P
(A) Voltaic cell

(C)  Electrolytic cell
s T SRR A SiSCul

Wq{ﬁﬂﬁ%

ity of a étroﬁg clei:tfquf?f
reases on &i_lutioﬁ S
(B) Dcpends m; deﬁsitj! L

(C) Decrcascs on dllutmn

(D) Does not changc conmdcrably on dl]utlﬂﬂ

&g ¥ e A @ .
®) e e
©)  samcR g - O A T
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T
s '(A] -. Hz"'dz _’W+ 2HCI
: _(ﬁ] 2HI —AU 5 H,+ 1,
R (o 2I-"I-I3 —->2P+3H2.
| {Di 2H 20 —>2H20+O
Aﬁ cxample of 1st order rcactm
lﬁ] ~
®
©

(D)

AG® <onpR® D)

Which of thc fnllomg is correct ?

W 1. 40% uoiems, ®
) 'ﬂGa_zgnFEB.' D)

| ?‘“-QTR!lsm

g o

O

- AGP =3ﬁFE?

AGQ = 3nFEB

‘f.
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[i’1s] .
| salt bridgé.c.onta'i'ns ;
- {A)r Calomely, & i - (B) Water
(©) AE&T'AéﬂI paste (D) Sodlum sulbhate _
L4, PH=10“3@W%HW%WW

&) ‘osov - B 089V S IS '
“(C). 0069V . . i (D) - o- 0 i
The haltlééll reducfidnipﬁteﬁtial of a &cn electrode at pH = 10
Willbe - @
&) 059V
, (©) 0-059 v _ - 0:059 v
15. H 2]H||Ag|A*V ﬁ?ﬁzﬁﬂa%
v (A) —osv
© -{Dl. 08V

rode potentlal of cell Hzl H IIAE TAE is
LA '-(B] -08V
S12V LR D) a8 v

aaﬂiamsrmﬁmﬁmr&m%m ﬁqamwumn@’"

W PR e e
© = ST o) e
xn-Q'rstz-;
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The amount of ion dlscha:rgcd during elcctmlyms is not: tfur-::lr:u}r
Proportionalto - | . - ST ik v
(A) (Ilurrent.' 4 P (Bj ' Time . . |
(C) Remstance -{ | (D] | Chcmlcal cquwalcnt of thc ion

20. mrhwno aesMnﬂ'fﬁazaﬁaamﬁrcﬁmﬁ .
G s s L gl g N g
B~ AT SR o O S o i

g " How :nian}? faradai_v-s are ;e&uircdt 5 ® "mol of MnC_l; to Mn2+ 2
I P e S L ' -

e étudy of reaction kinetics is called
| (A} Rate of reaction
(B) - ‘Mechanism of reaction

(C) Factors whn::h aﬂcct the rate of rcachon '

(D) All of these

R/524 ! i
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22. mﬁaﬁmm@mﬂ%mﬁﬁmﬂa{%mﬁm@mﬁmmmtm

MMﬂwﬂ?ﬁﬁ
w o | '(Bi s _
' .Th.-.. rcaction rate conutantcanbc defined as thc rate c@ when’
; each rcactant's conccntrahon m
0+ o

‘Iﬂlt?

23. mmaﬁﬁm%mﬁgmwm
oW Tt
{cj' g e T th%shtazm!ﬁ%

What cffcct docs temf® ll’lavc on thc half-hfe of a first order

rcactlon ?

@ It mw, .
(B Itdeg -

© _
increases as well as.decreases,

24.l TH

mfaﬁm.ﬁ’l 30 iz & 30% ot B Wt B, wH and-3Tg FA
W W e, |
(A) 242 fhnz @ 582 e
© 102-_2fh=r<._' Ty (O 1202 .
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ﬂ&ﬁﬁmﬂﬁﬁmﬁ@mﬂﬂ,ﬁﬁmwm(kflm

L© awhaféi o -{bj“

g If molality of the. dﬂutc soluhon.s 13 doublc value of molal
A dcpressmn constant{ ]wﬂl be 73 | o e 4
Q ms s p=

(C) {AV}TJP#O ‘ (D} (M-I]TP 0

" For an ideal so

(A) - Balved " - s [B}tn
[é] .'IUnchéngcd Sk [D)

8k mﬁmw%%qag?ﬁmi

% (A) {AG]TP_O"

cnrrcct optmn is

{AS]T P =0

i {DJ (8H )y, p= 0
36, : ahmumam?{hﬁﬁqmt% i
LR T ® T + T s
(C) ﬁﬂmmﬂ " (m m+wm
The mucturc that forms ma:nmum boﬂmg azcotropc is.
(A) Heptane - Octanc e \[B‘] Water + Nitric acid -

(C) Ethanol + Watcr- '(.l::'i] Accfpnc + Carbon di_aulphidc .

XII-QTR/524 Page 14 / 3? k|
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(A) > (B)
|t

—

‘%

(C) >
[Alg

() #E (B)
() wve uf et

What is the unit of ra

(A) second

(¢) molL”
28, HFAR
| (B)

(C)
According to Arrhenlus equation

(A kuaga/RTNT 1 ()

-QTR/524

Which graph represents zero order react

wl

7. mmaﬁfmi:anWﬁmm

k= A-'E"»’R" D).

)  kmAg™Ba/RTI . i (D)

[118] .
jon [ Alg) = Bl9) 17

L
e’

i

Q of a first order reaction ?
(B) second ™!

mol L

k=Ae Ea/R

k_B—EafRT

.k-Ae Ea/R

k_e-EajRT



_ _ [118]
\ During cl_cctrolyais', the spc_cicfl discharged at Cathode is/are - -
' (B) cation

1 (A ions :
(C) anion (D)’ all of these

52, Agﬂba forer A lﬁSgn,AQW'ﬁﬁi%ﬁmﬁﬁfﬁﬁ@'ﬂfﬁQ? |
R 4, T AT

© R ) &
The amount é_f electricity that can deposit 10
AgNO 4 solution is -

silver from

(A) one ampere ' _ (B) -

(C)° one 'fan_a_daj.
53. eig Oe § HR ug AR

() K*>Rb*>Na*>Li} "Rb*>K*>Na*>Li"

() Li*>Na*>K"> (D) Na*>K*>Rb*>Li*

The c'oxl'fect orde mobility of the alkali metal ions in aqueous
solution is o iy 0N '

(A) K*e:- Na*>Li* (B) Rb'>K*'>Na*>Li’

| ©) a*>K*>Rb* - (D) Na*>K'>Rb*>Li"
a wfmiecl @ €O 5
() ',ﬁrz_ 35 1, e e D) Si
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a7, 25°cmrn=rqx aﬁﬂqamn‘r&maﬂﬁﬁwﬁifi‘aaﬁmm M fer g
sefa dm &2 ' LR e . %

A) caCl, ek 20 (B) KCI ‘.

At 25°C, thc hlghest DS!'l'lOth prcssurc is exh1b1ted by

wh.tch of the foIlomng‘P _ !" %5 1 o

@) CaCly."n ol (B kel

i

. c_:lution of

EN !
o b

@ Glucose g o Ur*:i. °

. 38, HCl@wmqhﬁthﬁﬁwﬁ

(&) B4%HCL - ’ ,3% HCl |
© 202%HCI - @9 ) 222%1101 B

A?cotmpic mixture d watcr has

(a) " 84% HQ (E;I'}_‘. 63% HCl
- © :20-;0_,‘ {D; 322% HCI
| ".ﬁéﬂa%’rzooﬁaﬁw&u‘mm?hqmﬂ
100°C), 10025°c€rm%|ﬁr@|um mﬁmm% [ @ % fow -

afe

kh 306Kkgmol 1]
tdi

(A) 122 gma_l.j e e (BY 15-4gﬁ1o1_’1_

[_Cl " 1-7'33 mol 7 o -[ﬁ) -20,-4 gr:nt::l"1
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40,

(A) -* .12-2 gmol™t B
© 173gmol™" (D)

HCl, Cuso, 3 K,S0,% 01 M

The boiling point of water [IDO"C] becomes 100 25°C if 3 grams of a '
non-volatile solute is dissolved in 200 ml of water. The molecular

weight of solute 8 .. .?. ey '. _ j:I

[ Fep, for water is 0-6 K kg mol ™! | ”

£ < L
b, o o LR o

3T

(A) 1:1:15

»

. mmaﬁﬁqaﬁﬁoommﬁﬁmm%a%qﬁmxm

E‘Nrrm% a’tﬁ%qmn’taz;mm%(k -186 K kg mol ™)

(M) i 634, 'l (B) 80
(C) 90 ; (D)2
XI-QTR/524 o _ Page 16 /32 |
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is 30% complete in 30 minutes has a hay

A first order reaction which

life period of
(A) 242 min (B) 58-2 min
(C) 102:2 min (D) 120-2 min

25. el s sl 3 fore o, =L A AW

®

© 3 D)@ 2

For a given reaction t, /2 =~@ order of the reaction is
@ 1 ‘z

@ M o
H 26. ﬂ?— mﬂmm%[ﬁ(m—}ﬂ{gj]?
o Q : daV
dt
& s

t
. - t% ; t:} [

o ' [Alg

(B) -0

y

B

| XII.QTR/524
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Whlch of the followmg conducts electricity ?
@

F‘usecl NaCl gl | (B)  CO,
() Br _ el D) si
e, “Ih"ﬁﬁmﬁﬂﬂﬁﬂﬂmi?
@ B

56.

) NaCl [Bj Bacl,

' - 0N, o which of the following one far |
amlcrate one gra.m atom of met 25 aday of e_lcf:@

(€) CuSO D) Alcl,

m*ﬁw-mtﬁmmmh
(A)’ wﬁrmm ®

(C)  garEA % nfy '
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bt

- 50.

51. ﬁg«mﬂam ﬂm’rstﬁgiﬁﬁmwﬁnﬂqa
@ ¥ @) ¥emm
© FE . D) ogEwh

XII-QTR/524

l&l'

®

(€)

: Whu:h of the fn]lnvnng atatcm:nts is tru
@
R
©
)

€

; Thcy are more efﬁment

_They are free from pollut:

A]lofthcse I. - Q

<1 49, m@ﬂa%mﬁﬂﬁlﬂmﬁaﬁq-mwm% ?

%:ﬂﬂ:ﬂ:mi

%uzgwﬁa?ﬁi
%mwwimﬁaﬁﬁmm%
lﬁﬁmﬁ

Thcy run till the reac e active

v e 7

 : ® PbCI,

: {} HgCl

the fallowmg is hlghly corroswe salt ?
1&%:012 Al A B/ PBCly

H32C',12 - '{D]l ch1

.Iigﬂl_ﬂl i
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68. ﬁaﬁwmﬁmaﬂtmﬁaﬁmﬁmﬁWWﬂaﬁt 2

() AG=0. {B) AR =08 S

A rcactmn hamng equa.l cncrgles of actWaan for forward ancl reverse

rcacnons A8 T i 2 g

#) 4G=0 LT ) A 6:'} b

(C) . AH = AG = AS=0 ' (D) AS=0u: 1
69. rmﬁmaﬁ:&m%ﬁmmﬁaﬁﬂﬁqﬁﬁm T

") wﬂwm‘f Sl

©) . mw o

The addition of a cata.lyst d

'. ‘-‘hﬂmcal reaction alters which of
the fOﬂOWlng quaﬂtlt‘les ? RS ket b g i o e

(C) - Internale N05) - Bamatpy e
70. ferelt sffean S mﬁrﬁuﬁmzmeﬁaswaﬁwﬁm

A) Acuvatmn ener

R ?(R 3314Jmal ) 15

Gl A i s e

. -{B} 34 7 kJmol“l
D) 342 kImorl A
:What is the activation encrgy for a reactmn if its ratl: doublca when
thc tempcraturc is ra.lscd from 20"0 to 35"0 ? {R 3 314 J mol‘1 K—l)
(o) 269 kJmol” 1-- T B 347’1-r..lmol o | '
@ astme? D) se2kmet




10.
11.
12.
13.
1*}.

15.

Write the apphcatlon of

ﬁwmﬁ#ﬁmﬁﬁmi? '

On which factors ducs electncal nonductance dependa ?

mﬁ%mﬁﬁﬁa‘éﬂ%i?

What'i is ca.lled the order of a rcactmn ?

mﬁmﬁm%mwmi?

mmm%aWa

Give two cxamplcs of first ordcr rcactlon

What do you | mcan hy muleculanty of a rcactmn ? o

Wmﬂﬂ%m@!ﬁﬂm‘r

ernst cquahon P

mmmmma? i

. What is this use of thatstonc brldgc G

O

qﬁﬁ;“rﬁmﬁmaﬁqﬂmﬁaﬁ1 Sl ‘ ,

Deﬁne azeotroplc mixture. -- ¥ i @

e y 1S

= in

i 3] -
. =

co%‘ropcrﬁcs. £ NN,

[118]
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|ug -q / BEQTIOH -B
| wq iﬁ!ﬂﬂ WY / Short Answer Type Questions

' Quesnon Nos 1 to 20 are Short An,swer Type Ans
question carries 2 marks :

L s ) ofonRa w

T Defife mbié-fractidﬁ;-' '

ﬁ-"ﬁﬁ"rqﬁmw%?

Cu(s) + 2Ag (aq] g Cu {ﬂqJ+2Ag(S)
Eﬂ(ﬂaﬁo 46V

calculatc the equilibrium constant of the following rceictjon -
- Cu(s) + 2Ag* '(ag) - cu2* (ﬂq}+2ﬂg[sl

E ccl] =0-46V

XII-QTRI 524
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[118]

Menhcn the factors that affcct the rate uf a chcmlca.l rcactlon

25, ﬁmﬁwﬁﬁmﬂuwm

. Explam elévation i in ho']mg pomt in, de:tall
26. maﬁiﬁmw% ?mwmﬁ?

What is Kah]rausch‘s law ? What are its apphcauons

te@ °

27. WA B nmmmmﬁm@aﬂmml

Suggest a Way to dctermme the A m value *

28.

XII-QTR/524
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[113] X
18, %ﬂﬂmmw%?

What is rate law expression ?

19, !rﬁwuraajﬁﬁm@i?

" What is called energy of activation ?
20, mw%ﬁmmmmﬁm ?

What will be the eﬂ‘cct of temperature on r
ﬁﬁﬂ'ﬂm / LungA.nswat

T wEar 21 #zsﬂdﬁﬂamf I
swﬁaﬂi’wt

 Question Nos. 21 to 28 ‘are

‘nﬁﬂraﬂréimﬁﬁq

4J<5 21‘)

Answer Type Quesnons Answer any
4 questions.-Each question ' marks ; 4x5=20

522. 9E 13 (cgmﬂo4 ) St 225gﬁﬁz\=n3;|sa{c1{ cmﬁtﬁﬂﬁﬂ!

_ &ﬁ@mrm 7 v sfera s #fm
Qc 4 1s dissolved in 225 g of CH 5 CN.

ate the mass perccntage of asplrm ( Cg 30
23, Mmm%m#wwﬁmwﬁmml
mﬂ:m:ﬂ%q&ﬂhﬁwﬁl

) in aa.ct:':tm'ultrﬂc

H 4 CN) when lagongH o)

Dcﬁne conductivity and molar cunductmty for the solutlon of &n
elcctrolyt: Discuss their vanatmn with concentrauon

xﬂmfsu page 30/ ¥
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(118 ]
If the ratc constant fur a r:actmn ]-[2+12-—> 2HI is 49, thcn rate

|, "

constant for rcactmn 2HI s H +I2 13 '

(A) 7 :_ ‘B) 1/49

: ; 0 Y ..-.,e,

||"'

' The rate of a reaction is c:rpresacd as Ratc - K[A]n-[B] The order of

 this reaction would bc it . i -fi

xn-’é’l"ﬂ“ o ' . Page 25/ 32
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60. 2A+B—>3C+Daﬁrﬂm%;i%m ﬁnﬁhﬂﬁﬂaﬁq-maﬁméwaﬁ |

m?ﬁm%?

‘@ 41Dl - _dlA]
B i e s s v E
»d[C]; - i AR
-For the reaction, 2A +B->3C+D, whjch 0 ovu;in'g does not

express thc r:actmn rate ? -

61. 3A—2B aﬁrf‘m"mﬁ,*d
+2M.

(A)

bn 3A--) 2B, Lhc rate of reaction of :B is cqua.l to

_1d[A]

: 2d(A - . 3d[A s .
1'5%' ®) TT!-iTl ; 1

62. af} m Hy+l,— 2HI % fag am foris 49 2 ;ﬁ m

2HI = H, +1, %tafémaﬂ%maat _7_3
(A) + 7 B : B) 1/49
(C) 49 (D) 21

XI-QTR/624 | ' Page24 /32




STV CT: e R {B]' o42v

.

Which ‘one of fullo';mng mctals ca.nnot cvolve H2 from. a::tds or H20

from its compounda P

(e B
@ P st B e

Zn2+jZn'ﬂil :aaz'\s f‘ﬂa - 076 V t azn Cu2+/Cu w5
+034V%lﬁﬁiﬁ?ﬁﬁﬁiﬁiﬁfﬁﬂﬂaﬂemf’ﬁ |

Jatof Cu?* /Cuis
thc two elcctmdes is

The electrode potcnual of Zn 20 /Zn is' = 0:
+ 0:34 V. Then the emf of the ccll fo

mé,‘@"

(A) 110V e SR '__{B} s
; 42Vt

© =11V | _
ﬁ\ﬁ' ( E] ir:n itm A

4o

Fe>*+e” —>F‘c ai

48. %
Fe2+ +2e” >Fe; E“ tl:ﬂ Fc3*+3e —l-Fe, E°=-0 036V
| _._._"(B;_ ,_-0404v
N ) P 0 770 v
d elect:mde potcnt:a.ls
-&Fc, E°=—o 430V
Fe3 * 43¢ SReE ;ao oaav
Thc atandard elcctrcde potcntml ( ED) for F‘ea"' yem Fe?t 18
(A) - -0476V (B} —04o4v :
©) +0404V (D) 40770V
XU-QTR/S24 = SR Page 19/ 32
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Faraday's laws of electrolysis are:-related to the
(A)  Atomic number of cation

(B) Atomic number of anion ;

(C)  Speed of the cation

(D) - Equwalcnt wclght of the electrolyte -

Ny(9) +3Hy(g) + ' QNHS(Q} rramﬁiﬁ sfufrar & ﬁm

diH,] - S dINH, 1

_(Al" % det.c. & dt
d[N,] ,_ d[NH3]
i Gy

For ‘the chemical rcac_;iqh N,

option is SE : i : |
; d[H,] _d[NH pd[H,] ld[NHal
S S i Sy

d[N, ] o dINp] 1 d[NHg)
€. =g ©) dti .. 2 .
& AR mﬁmﬁﬁrmﬁ% Wmaﬁﬁmmaﬁ
Eict! 2

(A)
(&)

= When mmal conccntration of thc reactant ‘is dnublcd ‘the half-life

period of a zero order reaction is

(A)  Half e : [B). ‘Doubled .
(C) Tripled | . (D) Remains unchanged
-QTR/524 “Page 23 / 32
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~e¢

| 115 ] | be the highest.

The ffeezmg point 0
for which of the following ?

fr equiﬂ;.ollal aqueous s._oluhgn

(A) cﬁnsmuacL " (B CalNO3)

) La(NO3)3 D) CgH1206

44, wmiqamqsﬁa@ﬁﬁlémos Mﬁ'ﬁﬂﬁ‘e‘ﬁl%ﬂﬁﬁlﬁ%

a) -1-86°C M (Bl - 0-93°C
© -0093C i _{i_j)_ 0: 93°c

* The freczmg pmnt of 0 05 M sclutmn of no
@A) . - I-SG“C ' '

() -0-093°C

45, 'ﬁmﬁmwﬁﬁ? i
U 5SSM g ‘ B 5'-55_;1.}1_'_. 0
© 555M o D) 505M . '
What will l ity ofpurc vafcr»?' :

- - , e . i ; : =
- N = — ’ £ . T - : .
S p—— e iy b i b T A < i

(B): .555M :
' (D) 505M - |
ﬁﬂﬂaﬂ-ﬁﬁmﬁﬂHgmmﬁﬁﬁﬁH Omﬁaqﬁ
AR ? |
i) Ho e e A
© ®m ARl Np) iR
el 'I 4§ ' o ,'PaE_e'IB / 3



3 e
ﬁnﬁﬁaﬁam-mmﬁmmmﬁm%mﬁm'

S
-

}':Vh.ich of the _foudﬁ'ihg -_cot'hﬁoﬁﬁds._'cgh' I,bc' us reeze in

- automobile radiators P 5 L
B Méthyl alcohol ., i [Bl
() Nltrophcnol |
6 02 x 1023 qu ) 31"% 100

IOM

urea are prcsent in- 100 ml of its soluhon.

‘@) 0001M

Qﬂw S mM
1-00 ﬁmﬁﬁﬁammm%? :

(A) 0'0354 i (B) 0:0177
' ' 1770

- © 0177 Gt rol s _{D)'
‘What is the fractlon of the solutc in a 1 00 m aqucous solution ?.

(&) 00354 B) 00177
B o TS . @ . 1770
b page 13 / 32
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|ug -q / BEQTIOH -B
| wq iﬁ!ﬂﬂ WY / Short Answer Type Questions

' Quesnon Nos 1 to 20 are Short An,swer Type Ans
question carries 2 marks :

L s ) ofonRa w

T Defife mbié-fractidﬁ;-' '

ﬁ-"ﬁﬁ"rqﬁmw%?

Cu(s) + 2Ag (aq] g Cu {ﬂqJ+2Ag(S)
Eﬂ(ﬂaﬁo 46V

calculatc the equilibrium constant of the following rceictjon -
- Cu(s) + 2Ag* '(ag) - cu2* (ﬂq}+2ﬂg[sl

E ccl] =0-46V

XII-QTRI 524



10.
11.
12.
13.
1*}.

15.

Write the apphcatlon of

ﬁwmﬁ#ﬁmﬁﬁmi? '

On which factors ducs electncal nonductance dependa ?

mﬁ%mﬁﬁﬁa‘éﬂ%i?

What'i is ca.lled the order of a rcactmn ?

mﬁmﬁm%mwmi?

mmm%aWa

Give two cxamplcs of first ordcr rcactlon

What do you | mcan hy muleculanty of a rcactmn ? o

Wmﬂﬂ%m@!ﬁﬂm‘r

ernst cquahon P

mmmmma? i

. What is this use of thatstonc brldgc G

O

qﬁﬁ;“rﬁmﬁmaﬁqﬂmﬁaﬁ1 Sl ‘ ,

Deﬁne azeotroplc mixture. -- ¥ i @

e y 1S

= in

i 3] -
. =

co%‘ropcrﬁcs. £ NN,

[118]

P



[113] X
18, %ﬂﬂmmw%?

What is rate law expression ?

19, !rﬁwuraajﬁﬁm@i?

" What is called energy of activation ?
20, mw%ﬁmmmmﬁm ?
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